Physiology
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49.0ne of the following with regard to the refractory
period is TRUE:

2- aeSf/IOJ neul’of’/’an f/"é[’"d/j A. Includes the period of time when most Na+

channels are closed and capable of opening.

B. Serves to ensure unidirectional propagation of
an action potential along nerve fiber.

C. It appears by activation of adenylate cyclase.

D. During the relative refractory period the

3_ KCCF /OM'/ [/(+J membrane has the highest conductance for

Na+

E. Includes the period of depolarization before

4- Release neufofrofhic Factor's
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29.Events during synaptic transmission are:

1) Activation of voltage gated Cas+ channels at
terminals.

2) Generation of EPSPS (Excitatory post synaptic
potentials).

3) Exocytosis of neurotransmitter.

4) Generation of action potentials at post
synaptic neurons,

iy

The correct sequence of the events above according
to their appearance during synapic transmission
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47, Atthe synaptic cleft, increased neurotransmitter
concentration is resulted by:

A Activation of adenylate cyclase.

B. Activation of chemical gated Ca++ channels
C. Activation of phospholipase C.

D. Increased Cat+ concentration in terminals.
E. Inhibition of adenylate cyclase.

1. Action potentials
reach axon terminals

2. Voltage-gated Ca2*
channels open

Ca?*

3. Ca2*binds to sensor
protein in cytoplasm
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38. An input neuron to a diverging circuit causes the

membrane potential of a target neuron to change

from -65 millivolts to -55 millivolts. Which of the
following best describes this change in membrane
(ORI potential(in millivolts)?
pI T TIPS iy A
X A. Excitatory postsynaptic potential = +10
.- Pl

1elolliZe N\ v W52 g Excitatory postsynaptic potential =-10
C. Inhibitory postsynaptic potential = +10
D. Inhibitory postsynaptic potential = -10




% Summation of EPSP and TPSP detelmine
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